r) f{x}=%sin2x, Xy = =+

a) f(x)=(x*—6x+3);
6) f(x)=

8 £ = —F (3) 1),
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0) f(x)=2-2cosx, X, =%: §) f(x)=4sinx—x, 5= -:
5
B) flx)=Vx'-8, =3 5) flx)=Vo—X, =%
> ) ’{11-lcos4x. - ).
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Pemmre ypasmenne [ (¥)= 0,
a) flx) = (" —2x-3)%

ecan.

9 X - . - x
cas —=SIN — 0) rir]z-lsm-;:‘:osg-
o
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AATEMEA M MAMAAA ANMAJWIBA

o p—-" weerysay, W resYW AN
OMPOTRARTR, ¢ WARWH ERaporyam tun
VAR SWRATCR APNY @ ARyva

NHa rpadane Symnunn

=1 N = U |
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FARANTE TOWK®, B KOTOPMY KRACATONAL:

FAR NAPAAICIRRA MPANMOR
p = 2x+ 3,

A=) =

xre2

v=x-8.

K-7. NTPOM3IBOAOHANA

Ba ~ Bapuwanrt A2
o
HaRawre BpoRssaiane QyuKumi:
a)y:k’—;«»k a}y=4r’+531-&
6) y=2cosx-3igx ) y=4sinx-5ctgx;
B) !=:::~ B y= '::2;

CoCTassTe YDASHONNS KACATENALHON K

rpaduxy @yusuun flx) B Touxe Xy
ﬂx)=;!,-—-.t..r.=-l. ﬁr)=%-+2x,xo=1.

©

Cocrassre B pomMTe YDABHOHHE:
f(x) = £'(x), ecam f'(x) = -g'(x), ecan

@) = @x-1F, g(x) =10x+T. flx) = Bx -5)*, g(x) = 96x - 1"
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